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COST ACCOUNTING R I T&F TR 2 3F B e
Paper : BC-08 1. (i) Write formula to calculate Economic Order
Time : 3 Hours | [ Maximum Marks : 70 Quantity.
Note .— The question paper is divided into three Sections SR TR HE TR W g ferfe

A, B and C. Write answers as per the given
(i) What do you understand by absolute tonne

instructions.
e - T g fer, ‘9 ek ‘Y e wel § g 7 kilometer 7
TIF WUE & FRITTAR Y9 & SW e | TRYs 27 fRamie ¥ o9 1 993 © 2
Section-A 7x2=14 (iiiy Write down any four examples of office
(Very Short Answer Type Questions) overhead.
Note .— Answer any seven questions. As per the nature of Frfier e & FE W e faten

the question delimit your answer in one word, one

. iv) Explain Rowan Plan for labours incentive.
sentence or maximum up to 30 words. Each @) P

question carries 2 marks. gfast &1 Won 7 & fou Jaq A SaEy |
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(v) What do you mean by Job Costing ? gus—da

Sk @rTa fafy ¥ o9 = gHed § 2 (g 3T 99)
(vi) Explain term cost unit. fdor:- 5=l 9I® 9wl & S ASUI e et IR A
AN 31 AS hl HAABY | stfeham 200 vrss H ufEifaa ®ifNw) y@® g9
7 31 H1 T

(vii) Write down names of labour payment

2. Write a note on labour turnover.
methods.

TGt e faftri & wm fafe) oM e R T e fate

(viii) Write down four examples of Indirect 3. Explain apportionment of overheads.

material. SURETAT & STHUSH 1 THEET |
AT G & S AR e fefe | 4. Explain the following :
Section—B 4x7=28 (1) Escalation clause in a contract

(Short Answer Type Questions) (i) Cost Plus contract

Note -— Answer any four questions. Each answer should I HHART,
not exceed 200 words. Each question carries 7 () Tk Sk ¥ ghg T
marks. (i) <A IR S
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. Name of control accounts maintained in non-

integral accounting system.

TR-mamfer TRew Usfa § fEs Tt & 9 SaRy |
. Discuss the causes of differences between costing
profit and financial profit.

A o 9 fasie @ § SR % wRon @ foeed
T |

. In process costing explain accounting treatment of

normal wastage and abnormal wastage.

gfshan @ fafy & siavia 9m g 9 s/ w1
% EHT FIER I THIE |

. Define Operating Costing System and state the
industries where it is being used ?

TREmeq @ra fafs & aRafya wifse aon o' f&a
e H 3T ot S § 2

. Explain the formula for calculating labour

variances.

g8 foeron w1 7oA &% g fafem)
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Section—C 2x14=28
(Long Answer Type Questions)

Note -— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.

gug—d
(& s ue)

fder ;- Tl & 7oAl & S AW 19 3T S| T SAfreRan
500 vi=Ei § 9fiEfad ®wifSe) ToE TR 14 3T
7

10. Explain various methods of valuation of issue of

material.
et friea & geaied &t fafesi & wwemsT)

11. When standard quantity is 50 units, standard price

per unit is ¥ 4.50, actual quantity used 40 units and
actual price per unit ¥ 5. Calculate material

variances.

I gAT AT 50 sHEA, T qod Ufd g T 4.50,
Rt IUHN 40 THTEAT, TRAfah Jod I THE T 5
B, O Gt fo=Rel i o i |
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12. Explain the following :
(i) Break even point
(i1)) Profit volume ratio
(111) Margin of safety
(iv) Angle of incidence
frifera =1 T9=msT
() = ey T @+ @ fag o wfaws fag
(i) TMY-HEAT STU
(iil) Hea&m e
(iv) 99 &3 T IO AT FIART HI

13. Explain joint and by product and distinguish

between them.

T 9 SUICAIG 1 THSET T $TH ST’ ShItg |

BC-08/7 (7) TT—456



